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- — MORE QUIZZES -
enliven your quizzing

Prevody jednotek hmotnosti

g, kg, t
1

8000g-=

O 8kg

() 80kg
3,5kg =

(7] 3500g

() 350g¢g
2500g =

(] 25kg

(] 25kg
2t=

(0 200kg

() 2000 kg
1,2kg =

(] 120049

(] 1200049
0,25t=

() 2500 kg

(] 250kg
500¢g-=

(] 05kg

(7] 0,05kg

Prevody jednotek hmotnosti 1/2


https://faabul.com

4,7 kg =

O

O
09t=

O

O
120009 =

OJ

O
2,8kg =

O

O
0,15t=

O

O
1500¢g =

O

OJ
6,4 kg =

O

O
0,7t=

O

O

4700¢g
47 000g

900 kg
90 kg

1,2 kg
12 kg

2800 g
2804¢g

15 kg
150 kg

1,5 kg
15 kg

6400 g
640 g

7000 kg
700 kg
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